
 

   

  

  

Year 2 – Reciprocal Trigonometric Functions Name: 

                     

 KEY FACTS      TOP TIP 

Use the third letter of each 
reciprocal function the help 
remember these. 

 THE GRAPHS 

secy x=   

cosecy x=   

coty x=   



Solve the equation 2sec𝑥𝑥 + 1 = 6, giving all values 
of 𝑥𝑥 in the interval 0 ≤ 𝑥𝑥 ≤ 2𝜋𝜋. 

Give your answers in radians to 2 decimal places. 

SOLVING EQUATIONS | EXAMPLE-PROBLEM PAIRS 

1E Solve the equation 3sec𝑥𝑥 − 2 = −10, giving all 
values of 𝑥𝑥 in the interval −180° ≤ 𝑥𝑥 ≤ 180°. 

Give your answers to the nearest degree. 

1P 

Solve the equation cosec(2𝜃𝜃) = 4, giving all values 
of 𝜃𝜃 in the interval 0 ≤ 𝜃𝜃 ≤ 360°. 

Give your answers in degrees to three significant 
figures. 

2E Solve the equation cosec(2𝜃𝜃 ) = 1.6, giving 
all values of 𝜃𝜃  in the interval 0 ≤ 𝜃𝜃  ≤ 2𝜋𝜋 . 

Give your answers in radians to two significant 
figures. 

2P 

Find the exact solutions to the equation 
cot �2𝜙𝜙 − 𝜋𝜋

3
� = √3, 

giving all values of 𝜙𝜙 in the interval 0 ≤ 𝜙𝜙 ≤ 2𝜋𝜋. 

3E Find the exact solutions to the equation 
cot �2𝜙𝜙 + 𝜋𝜋

6
� = 1, 

giving all values of 𝜙𝜙 in the interval 0 ≤ 𝜙𝜙 ≤ 2𝜋𝜋. 

3P 
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